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Enter D.O. readings at each elapsed minute on the graph'

Graph the data and detemine the time period where the slope is constant with a best fit line.

Use the first and last D.0. reading from this constant slope portion of the graph in the Otlli. formula

Oxygen Uptake Rate (OUR) (S.M. 27108)

UR mg OzlLlhr=.Fegi+lissolv * 60

Elapsed Time

K,? 1 1 t-t
oUR=*- - ,ne&-.J'J ,*dlx60= f. .nqoiLlhr

\t Minutes



." ,specihc Ocygen Uptake Rate (SOIIR)

1. SOI.IR mg OTllu/g =
yoTotal Solids * iOoo glL-

Note: enter total solids as a decimal, see S.M" 2540 G

= '1T6, J,;so'MsSOTIR=

, e (L{ * looo s/L

f

Temperature Adustment

sorrR @ A.verage Temp * Adjustment, or correction factor = souR @20" c

,2tbI ' mg O=lltr/g
@ 2!,b"-"c

* ,40 
=r

,251
mgOzltu/g @20. C:"

Note: see adjustment formura and correction factors on the ne)iit page.
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Specific Oxygen;Uptake Rate

T emp erah:re Adjustment

SOIIR is determined at the digester's ambient temperature and then adjusted as follows.

SOUR@20oC = SOIIR@ Ambient T.*p. 'F A0s'AnbicntcmP.)

where 
^= l 3ifi,l],l13"
These factors are good between 10" C and 30o C

Simplified
SOIIR @20" C = SOUR @ Ambient Temp. * Correction

COffegtiOn = d QsAnbiontTumP)
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Sludge Total and Volatile Solids
Total Solids see S.M.2540 G
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